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Question Ko TIEDITWTZ AENE 8490 N & 70V (TR o T AT ZE 20 BRIIE

There are people who hold the castle. You don’t know the number of the people,
there are food supplies seven hundred twenty thousand liter in the castle, and it 1s
oiven 1.8 liter per a person. They killed in the war every day, and 1t 1s given to
twenty people 1.8 liter per a day, then after fifty day seven hundred twenty |
thousand liter run out. How many people were in the castle in the beginning? The v
remaining armies are 7490.
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Fazhs English translation

Answer 8490 Twenty people are killed each day if you count x people at the

beginning, you can express that the number of people on the first day

Solution ; , , IS X (people) and on the second day x - 20 (people). Also, weapons
Subtract 1days from 50days. Multl.ply 49days by 50days. 2450days .1nto 2 gives 4000k of rice = 400,0005"" Therefore, it can be thought of as follows.
1225days. On the day 1225, multiplied by 20 people who were killed, 24,500 | .
people. If we multiply 0.01kku by 24 500 people, 245koku, 245koku plyg 4000koku g (chart)
4245kku By dividing it by 50days, you can know the number of people were in the
castle in the beginning. If you hit 20 people on 50t, 1000 people will be died. X | x—20 & P el 08, O pouttiy 8 X — 980
Persons in charge:Saito Kimura
X Bl kgt 2V x— 20
)I,:' SZﬂ: Edo culture Add each divided up and down from the second day to the 50th day,
A N =N add the first day and you can express it as below.
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Amount of rice that one person can eat

The Edo was the knee of the general and there were annual rice from all over the country. | X = 8490
As the distribution system of rice was improved, it was possible to eat rice, unless it was a
poor person, rice which was also milled.

Being able to eat white rice — One of the boasts of Edokko.

In the case of an adult male, he ate 5 rice of rice a day.

Therefore, the number of people who started at the beginning is 8490,
and the remaining number is 7490 because it Is enough to subtract

Because there were not so many side dishes, they lived by eating rice often. 1000 people who died from there.
21f  edo-g.com/blog/2016/02/meal.html A person in charge:Suga
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Author: MURASE,Gieki
As shown in the figure, even if it does I solved mathematical content by
not seem to be understood by the We first learned Sangaku since I entered this high school. lending my teacher 's power, so I

original numerical value, 1t can be As well as classics and mathematics, including elements such as English, 1t
adjusted to a comparatively easy-to- was hard to solve the problem using a wide range of knowledge with
obtain numerical value by doubling and everyone cooperating, but it was very rewarding.

want to be able to think more
about mathematics by
themselves. Also, 1t took some

changing the order. You can also read the 1deas and knowledge of old people through . .

Also we were able to make it more mathematics and get fulfilling time time to understand the 1dea of old

accessible by matching units of rice. I think I could do it. o A - people, so 1 want to learn
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classical common sense.




